Graphing a quadratic.  There are many ways to graph a quadratic.  This is the way we are teaching and work we want to see on your test at NSHS

Graph 
This table will guide you through the three steps.
	X
	Y
	Specific point

	
	0
	1st x-intercept

	
	0
	2nd x-intercept

	0
	
	y-intercept

	
	
	vertex



In each step you are starting with the original equation.
Step 1.  Finding the x-intercepts
Start with the Original equation.  
For this step you factor the equation with generic rectangles and diamonds.  Here are the results after factoring. 

Solve for the roots with the zero product property.

From this we get the two equations x-3=0 and x+1=0, which are easily solved for x+3 and x+-1.  These are x-intercepts and will be put in the guiding table and plotted on the graph
Step 2.  Finding the y intercept.  This is easy.  At the y intercept the x value is 0, as already noted in the table.  To find the y value you simply plug zero in for x in the original equation.
Start with the original equation.		 .
Enter zero in for all the x.		 .
Solve for y. 				 y=-3
So your ordered pair is 			(0,-3) for the y-intercept
Step 3 finding the vertex.  This is similar to finding the y intercept, but the math can be more challenging.  Just like the y intercept, you need an x value to plug into the original equation.  In this case you use the x value that is in the middle of the 2 x-intercepts.
Start with the original equation.					
Find the x-value in the middle of the x-intercepts.	X=1	
Plug this value into the original equation		

Solve for y						y=-4	
So your ordered pair for the vertex is			(1, -4)	
Put these points in your table and then graph	
	X
	Y
	Specific point

	3
	0
	1st x-intercept

	-1
	0
	2nd x-intercept

	0
	-3
	y-intercept

	1
	-4
	vertex



[image: http://www.cimt.plymouth.ac.uk/projects/mepres/step-up/sect2/egroots.gif]
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Solution to number 1

[image: http://www.s-cool.co.uk/assets/learn_its/gcse/maths/graphs/algebraic-graphs/g-mat-graph-dia03.gif]

Solution to problem 2
[image: http://hotmath.com/hotmath_help/topics/graphing-quadratic-equations-using-factoring/image1.gif]

Solution to problem 3

[image: ]
Solutions to problem 4
[image: http://www.algebra-class.com/image-files/quadratic-5.gif]
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Step2: Graph the points from the table of values:

x 0 1 2 3 4 5 6

x| 5 0 3 4 3 0 5

0% (10 @23 G4 43 60 69

Zero (1,0) Zero (5,0)

cf

+—Vertex (3.-4)





